2792583 REPLACEMENT PARTS LIST
KIT | ITEM |PART NO. DESCRIPTION QTY.
1 170446 HARDWARE KIT 1
1 SCREW: HEX HEAD CAP M10 X 15MM| 2
2 SCREW: HEX HEAD CAP M10 X 35MM| 2
3 SCREW: ROUND HEAD M8 X 40MM| 8
4 NUT: WASHER M3 12
5 BOLT: CARRIAGE M8 4
6 NUT: M16 2
7 WASHER: HANDLE 2
8 PIN: COTTER 2
2 170431 PLASTIC TUB 1
3 170442 FRAME 1
4 272589 HANDLE 1
5 272591 CASTER 2
6 170422 KIT: WHEEL 12" X 3 1
TILT CARTS

Heavy—duty, molded, FDA material compliant, polyethylene bin.
Easy to move and dump.

Wheels black rubber tread tire, molded to polyolefin hub.
Swivel casters, polyurethane wheels.

All models include bin, frame, handle, wheels and casters.
Optional black polyethylene hinged lid (P/N 272587)

P/N: 272583

Model: 1S1250R

Type: Standard

Cubic Yard: 1

Capacity: 1,250 Ibs
e Color: Red

Wheel: 12" x 3"

Caster: 4" x 1.25"

Weight: 94.5 |bs

THIS DRAWING IN ALL PARTICULARS IS WESCO INDUSTRIAL PRODUCTS INC. PROPERTY. ALL RIGHTS OF DESIGN, INVENTION OR USE OF ARE RESERVED.

PRINT ISSUED L YR s o A R s

wl o PART NAME prawN: RS 09—12—14

5 S TILT CART ——
SEP—12-2014 3|0 1 CU STANDARD
AR APP. ENGR.
el TOLERANCE UNLESS OTHERWISE SPECIFIED
FRACTION 3 PLACE DECIMAL 2 PLACE DECIMAL SCALE:
WESCO MANUFACTURING £ 1/64 + .005 £ .01

ENGINEERING DEPARTMENT = ANGULAR + 1-1/2° SHEET 1 OF 1 A— 272583 E A

4 BREAK ALL SHARP EDGES AND REMOVE ALL BURRS




